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1.59 - 0.42
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1.17

1.59-0.42 =1.17
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2.78 2.35 0.37 3.46

@® 0.37-2.78 - 2.35 - 3.46 ® 0.37-2.35 - 2.78 - 3.46
® 3.46 - 0.37 - 2.35 - 2.78 @ 3.46 - 0.37 - 2.78 - 2.35
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+0.36—>0.019]
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539 =5 +] |+ |
D 0.3,0.03 @ 0.3,0.05 (3)0.3,0.09
@ 0.5,0.09 ® 0.5,0.03

5.39=5+0.3+0.09
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4.528 = 4 +40.5 4 0.02 + 0.008

2654 = ]+06+[ ___ |+0.004

@ 2.05 @)2.0.05 ® 2,0.005

@ 2,0.55 ® 2,0.055

2.654 = 2 + 0.6 + 0.05 + 0.004
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20.8 cm
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g 52+81+75=133+75=20.8(cm)
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ool Aok 48 A2 2412,

@ (1) 0.01 (2) 0.12,0.12 @ (1) 0.01 (2) 0.13,0.14
@G)(1) 0.01 (2) 0.14,0.13 @ (1) 0.1 (2) 0.13,0.13
® (1) 0.1 (2) 0.14,0.13

a— 0.27
04 0.1 0.2 0.3




15. A7} 0.54kg Q1 Akt FA7F 0.61kg 1 vH7F 15Utk Abatet
Hj o] Al B 2 kg Q1A FOHA L.

» = kg

> EED 115kg

Apztel v A1) & 1 0.54 4 0.61 = 1.15( kg)




(1) 5.789 + 2.981 =
(2) 3.892 + 5.002 =

il

D (1) 8.769 (2) 8.884 @ (1) 8.769 (2) 8.894
® (1) 8.77 (2) 8.884 @(1) 8.77 (2) 8.894

® (1) 8.771 (2) 8.894

(1) 5.789 + 2.981 = 8.77
(2) 3.892 + 5.002 = 8.894




17.

= 0] go] 1 Kk 2 AL o= AYY7F?

@ 0.58 +0.43 @ 0.249 + 0.91 @0.709 +0.192

@ 0.7+ 047 ® 0.65 + 0.693

® 1.01 @1.159 ®0.901 @ 1.17 & 1.343




18. Aol 59 3= 7P FAIE AHARY 7.02kg ol FH T 7HETHe]
FA7} 1146 kg ol2hd Ho] FAE F kg Q1A FHAI L.

> E: kg

[> HEf D 5.8T4kg

(o] Bol Q= 7hare] 2o~ (hgare] =)
= 7.02 — 1.146 = 5.874(kg)




19. @4 @749 A= 2 kn YU7A?

_.3.59km-__  _4 675km - _

- ~-
- - ~

% R ® _-T®
T-6.986km---"

~

= km

[ 2
> = 1.279km

B

O°llA 671219 A=

= (@A @7t 2] A=)+ (@l A @722 Ad)-(@elA &
7k 2] Al)

= (3.59 + 4.675) — 6.986

= 8.265 — 6.986

= 1.279(km)
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